1‘6e(r)np Series: [ 2. 6. 8. 9. 20.], erreur Mk 0 = 403.076999689 Toeawp Series:[ 2. 6. 8. 9. 15.], erreur Mk 1 = 440.451196898

80 80|
60 60f
40 40
20 20

0 0

Temp Series : [ 2. 6. 8. 9. 4.], erreur Mk 2 = 456.50314487 Temp Series: [ 2. 6. 8. 9. 5.], erreur Mk 3 = 462.921510255
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Temp Series: [ 2. 6. 8. 9. 7.], erreur Mk 4 = 484.900947096 _Temp Series:[ 2. 6. 8. 9. 12.], erreur Mk 5 = 488.619360486
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mp Series : [ 2. 6. 8. 9. 3.], erreur Mk 6 = 499.535817797 _Temp Series:[ 2. 6. 8. 9. 18.], erreur Mk 7 = 499.788470024
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Temp Series: [ 2. 6. 8. 9. 19.], erreur Mk 8 = 500.004604923 _Tem
100 I I A — 100
80 ' ' ' ' ' '
60




